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1 B (21030 =DATEDIF(C4,$H$1,"y") BET =1
2 B 20496 =DATEDIF(C5,$H$1,"y") CHT <
3 #ZiE {18083 =DATEDIF(C6,$HS$1,"y") BET =
4 s 17114 =DATEDIF(C7,$H$1,"y") EET A
5 =i |19175 =DATEDIF(C8,$H$1,"y") AFRT =1
6 Z# 16201 =DATEDIF(C9,$HS$1,"y") ART p=1
7 #ZiE 21362 =DATEDIF(C10,$H$1,"y") ART =1
8 Bt (18424 =DATEDIF(C11,$H$1,"y") DET H
9 7  |16682 =DATEDIF(C12,$H3$1,"y") CHT =1
10 #Z#E 17937 =DATEDIF(C13,$H3$1,"y") DET =
11 B 20446 =DATEDIF(C14,$H$1,"y") BET =1
12 EiE 20884 =DATEDIF(C15,$H3$1,"y") EET =

=
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=TODAY()

PN B
ART =COUNTIF($E$4:$E$15,H4) |=COUNTIFS($E$4:$E$15,5H4, $B$4:3B$15,)$3)
BET =COUNTIF($E$4:$E$15,H5) |=COUNTIFS($E$4:$E$15,5H5,$B$4:$B%$15,)$3)
CHT =COUNTIF($E$4:$E$15,H6) |=COUNTIFS($E$4:$E$15,5H6,$B$4:$B$15,)$3)
DET =COUNTIF($E$4:$E$15,H7) |=COUNTIFS($E$4:$E$15,$H7,$B%4:9B$15,J$3)
FET =COUNTIF($E$4:3E$15,H8) |=COUNTIFS($E$4:$E$15,$H8,$B$4:$B%$15,/$3)
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=COUNTIFS($ES4:8E$15,8H4,3B34:3B$15,K$3

=COUNTIFS($E$4:3E$15,H4,8D$4:$D$15,">

=COUNTIFS($ES$4:$E$15,5H5,5B%4:3B$15,K$3

=COUNTIFS($E$4:3E$15,H5,5D$4:8D$15,">

=COUNTIFS($E$4:$E$15,5H7,5B$4:$B$15,K$3

=COUNTIFS($E$4:5E$15,H7,5D$4:5D$15,">

( )
( )
=COUNTIFS($E$4:$E$15,$H6,$B$4:$B$15,K$3)
( )
( )

=COUNTIFS($ES4:8E$15,$H8,3B34:3B$15,K$3

(

(
=COUNTIFS($E$4:3E$15,H6,$D$4:$D$15,">

(

(

=COUNTIFS($E$4:3E$15,H8,8D$4:$D$15,">
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